2 N"17Tn

"70111'00IR "a10 1'T 7w 072NN DID'o

["OWIAN TIK IV
http://www.cs.tau.ac.il/~ehudrubi

30/08/2004 :qaxma pTIv



:D"'0'02 D'7NAVIX

[eXdx eX+c
[EY aX
—+cC
Ina
jsinx —COSX+C
[cos x sinx+c
1 tgx+c
cos? x
1 arctgx+c
x2+1
J 1 arcsin x+c¢
l—x2
[Inx xInx—x+c
1 1 X
=5 “arctg| = |+c
X“+a a a

)
]
=
G

lim(> f (xi)Axi)z? f (x)dx
a

Xel D7 F'(X)=f(x) oxk | yoja f(X) 7w nniTp nx1j F(X) nyjpao_2snnman

-1) f 9w nmiTe nirxpae 7w qoixk nt (1 -a) f(x) 7w nuon X7n 7Ma01RN 20NN

Jf(x)dx - (1
.F—Fy=const i« f 7w niniTp F,F, Dx:nwo
danmapn?e ik | -anoxn f o ivown

ovpnnl, 1 - nryanorR f+g,of oaTr | -aneyanaorx f,g ox:navy
[af=af f

J(f+g)=[fx[g

2
o
=
G

[f()=F(X)+c=[f(x+a)=F(x+a)+c

jf(x):F(x)+c:>jf(ax):@+c

[F0)=F()+c= [ flax+b)y=&FD) o




:0'7'7N2 N'¥IAVI'RN NNON

fuv'=uv—{fu'v

‘NAXN/DINYN N97NN NV'Y

[fdx=[x=x(®)]=]f (x(t))-x'(t)dt
A1onn Iima
X = X(t)

[ f(x)dx :L,: X,(t)} = [ (x(®))-x(t)dt

7N NI97NN

jR(x,\/ax2 +bx+c)dx

.('P1'79> 712'N) DINWNN 2 Dy 207 [NIY NIFYI9N 7D OIR RIn R 2wxd

\/ax2+bx+c:t—\/5x a>0

\/ax2+bx+c:xt+\/g c>0

X — X X{, Xo DY D"WNN DWW Y W' DX
Vax? +bx+c = (x—x)v/a 2

X—Xl
N'7071211IK NMVNANRIANV N97NN
[ R(sin x, cos x)dx
t=tg5 —T<X<71 = X=2arctgt = x'= 5
2 1+t
X
. 295 ot
sinx = v 5
1+tg? > 1+t
2
1-t2
COS X = 5
1+t
:0'10N '712AVI'N
n b
_ YAy
R, El f (%) AX; —)maxAxi —5 i f (x)dx

Jmaork foax [a,b] 2 nowxvy f ox iuown
J1'7272K1'R K'Y NNIONIT NRIVIIM N'X7I9 (VOWN
J1'727202'K RN CITR N9 'R NI 7W 0N 21X D10 190N W' NY71197 DX 1u9wn

2T, [a,b] A nranavrex f,g e luswn




=
=
Il
=~

D —T
-

b

I

b b b
[(f+g)=[f+]g
a a a
b c b
[f=[f+]f

a a C

b b
[f]=Tl1]
a a
b a
-t
a
12T 'NIdo
n
S= z MiAXi
i=1
n
S= z miAxi
i=1
M; =sup f
AXi
m; =inf f
AXi

757 ox 1 ox yopa N2 o [a,b] yop v nmion fnif7\ana0ax jimunp
.S—-s<¢g w7 [ab] wnpinnnp >0

N72701K P71 N9 go f DA TR N9 f,g DN (LOWN
J7M01K go f ok nfranaveR fornova g D N juswn

:D'10N 77201'K AIY'N

b
[ f(x)dx = F(b)-F (a)
a

b
jf >0 N, f(Xg) >0 w7 X9 €[a,b] ovpi [a,b] -2 nox f D N nwv
a



:D'10N '771202'X 112V D'P7N2 N'¥IAVI'R NNOoN

b b b
fuv'=uv| —fu'v
a a a

a
. j f =0 x,[-a,a] -2 n'7200rN N R oD N Do
—a

77201'K v D

F(x) = )j( f(t)dt= F'(x) = f(X)

a

nn'p NIT 7w 010 19017 V1S Nniont N9 f(x) [a,b] yopa D N v
DTN NI 79 1910 19017 019 [a,b] -2 X 7 N F'(x) = f(X) 1w 2 F(X)

f =F(b)-F(a)

D —T

0o

:0"pnni 0'odNn Y (a, £by), > c-a, DA TR D'01dNN Y a,, > b, DX WL

2.(antby) =2 a, £ b,

2.C-ap=cxay,
:p=0,12,... DwP N o7 ¢>0 70X DR 0NN Y &, IYIR [IN0AR
N+p
D ap|<e
n=N

.010Nn 1IVN DX ay —0 »yan '"Yip [IMuMm

1
.p<113ayT1annl p>112ay ondnn Z—p 110N DWW
n

01NN Ya,? X a, >0 -1,00nn Ya, DX Do
D'aI'n DIV

T 0<a, <b, DX :nWv
.01DNN Y a, 'TX 01NN Y b, OX
ATann ) b, 'TRYTANNn ) a, DX

.ap 20,b, 20 » nm :nwv



. a
D"MTANN IX 0'01dNN an ,Zan nOMIvN 'TX ,0< L <oo qwxd lim b—n: L 0"y OX
N—o0 n

.Th'a

‘71227 Yayn 72 N1011XNDY 'WIR 1INV

0
.ap 20,2 a, M
1

.onm Ya, '™~ g<1wKd,a,<q" ox

.01DNn 1IvNn Q/a<1 ONI ,TANN IuN Q/a21 DN DY
INONn

.0DNN Y a, ™ IimQ/;:q<1 DN

ATann Y a, ™ limf/a, >1 ox
oI X7 X limY/a, =1 o

(limYa, 2 wnnwn? 7'son o"jpmn v
n i i

2AN7T IMup

An41

.01DNN Y a, X <g<1 DX

n

a
ATann Ya, ™ L >1 px
n

JINON
i 8nig
.0DNN Y a, ™R lim—=<1 ox
an
i 8ny
ATann Yla, ™ lim—==>1 ox
an
i 8ngl
DT K7 IR lim—==1 ox
an
Tirm @n+l
(lim—"= 2 ynnwn? N2 IYXIN Npna )
an

2
]
A
G

> nPa" a>0 peR

.0DNN VN a <1 ox
ATAannvn a>1 oxX
.0DNN VN p<-1 DOXINTAM LN p>-1 DX X =1 DX

-NARA 1MV

ATann ion R, <1 ox



a b
n_+1<n_+1 an,bn>0

>D)"a, a,>0

.0onnnvn R, >1 oxX
ATann on limR, <1 ox
.onnnvn limR, >1 ox

-NWL

.01DNN ) a, TN 0NN Y by, DX
ATann Y b, T™XTann ) a, DX

077> 011V
.(07nn1) 0NN Y a, ‘T8 01dnn Y [a,| ox :vown

Y27 11V

.012NN 1ILN TX NIVNRIN (09X7 TI') &, \v0 DX

072" T (IN0p

N
.0Dnn Y agb, ™ >.b,|<C - ,n0nm a, >0 ox
1
“7AN INVR
0
.01dNN ) agb, ™k odNN b, -1nmonm a, > a ox
1
WL
X 1
n cosE—cos n+E X N
> sinkx = 1 > sinkx|<C
k=1 2sin = x k=1
2
. 1 1
N sin n+E x—smEx n
D coskx = 1 > coskx] < C
k=1 2sin = X k=1 x#27k
2
N voOwnN

.0120 727 ¥an7 N1 nn'o 170 'Y 'Y TR 1 TaNNn Z|an| OX

o0 A
[ f0Qdx = lim [ f(x)dx
a A—)ooa

MMy X7 Navax




o}
[}
A=
G

[ f00=1] fO+[ f(X)
—00 —00 a

2
)
A
G

o0

1
=
1X

JTANN 7M0rRn o <1 oX
.01dNN 7M01'RN o >1 DX

2910 YO 702 N nirfranavk f,g >0 N nxiwn anan
‘TN
‘[a,©) 2 0<f<g ox.1

o0 o0
onnn [ f 'TxondNn g DX
a a
o0 o0
ATann [ g 'tk Tann | f ox
a a
o0 o0 f
IX D'01ONN jg -1 j f n"7MavrRn T8 O<L<oo qwxd lim —=L n"p DX .2
a a X—o g

. Th'2 D'YTANN

NUWN NN D'AYNA AT NN .NIMIoN X7 NI'Y2119 112y DA 0211 DYANAAN DY
JIMMYAN DT N9'RwA

JIMMTYA NITIRA DY NIYY2AI9 112Y DA 012101 ARIYAN 1IM0MR NN
.QI01'K7 DIZNA N'M"YAN NTAT7 QRY' X W NNDYT7 71 X 2 Mo

o0 o0

.onnn | f paTR 01NN j|f| DN 1U9WN
a a

.("o10 yup 02 N N7 )

A
nanm g -0 oai jf <C -1,'910 yop ‘DA n'7amork f ox :D7MT Mo
a

o0
.onnn | fg X
a

0 o0
.010NN j fg T~ nnioni n1IvNM g -1 01NN j f ox AN monp
a a



ST, NON DT nawonm - f(x) [0,00) -2 D N INM7YaN20R [INVR

.TN'a oTann Ik 0'odnn ) f (n),j f(x)
1 0

NI'X2I9 NINTOI NI'X2AID NI

frn (%)

%O:Un(x)
1

.010NN V/MT'OW T X -n 75 :n101>NNN DINN

n>N DwP N op e>0 D7ox | -annw nmnma f,(x) > f(x) :DaTan
|fn(x)— f(x)|<g
Xel 4

W' Sy (X) > S(x) oxw'ma | 2 S(x):iun(x) YO
1

N9 fox(l -anox f)) | -aw'nma f, > f oxvown
.N9'¥Y N¥1197 NO11NN W'NA NOdNNN NIDIXY NIYYAAID 7 NNTO

v"n1 odnn Y uy(X) 'Tx 0odNn Y a, -1 | 2 |un(x)|<an ox (W) oavwnt [nan
A2

Su,(x) TR 1 -2 w'"nar naonm ag(x) >0 -1 ug(x) = (-1)"a, (x) D :yaare
.1 -2 v"na 0o1d>Nn

N
2.bn(X)

1

TN ,W"N (1912 X 75%) nionm a, (x) > 0 - <C px 1T

.w"na odnn Y a,(x)b, (x)
1

o0
> ap(X)b,(x) T8, TN2 NmMionl NIvNM a,(x) -1 w'na odnn Y b, (x) ox 7ax
1

.w"na 01»nn

2TRG D w A nTm X, 1 -aw'na odnn f, D N ivown
lim lim f,(x)= lim lim f,(x)
X—)XO N—oo Nn—oo X—)XO

AYONY IN .NI71220 7122 DR TR N'Y¥2219 7D 7w 71220 R AwNT DTIR YWOKX NI
N7 71220 NN 2WNT TRI N'71220 N'¥22190 DX AWNY



nox forx nioxy f -1w"na f; > f wan xon

Dok foax, | anryamaorx f - 2aw'na f > f fvown
lim [ f, =] lim f,

N—oo | I N—oo

[a,b] -2 nima f, D N vown
JDNKX Xg -2 NiN97 nodnn f(x) D nm
.[a,b] -2 w"nanondnn f,'(x) -I

Cim £ =(lim £,)' -1 0t ny797 [a,b] -2 w'na niodnn TR
n n | n
Nn—o0

w"na1 odnn Y uy(X) -1 1 -2 n'722701K Uy (X) D Nt K 12K DAY VOYN

JXup =>Juy 2,12
| |
NIPTN IV
< n
2.3 (X—Xp)
0
o0
Yax" & x5 =0
0

.Xp 220 R 0I'T2 yup AT NIPTN 110 7¥ NI01dNNN DINN
ATANN NN YOR? YINn

1 )

== lim ay|

R Nn—o0

. a

R= lim —"
n—oo an+1

X 207 07NN 010NN N1V NICDNAN I'TY N2 NN
1.l (-R,R) 72 v"na 010nn

lim Y a,x" =Y a,R"
X—R

A17M0 10 0T TR NTN Q0D 'Y 2Dy |N'1 OX [UOYN

-1 72'X 2R N'YA0YIR NIYYZE 2R 2R ITA7 [N DIPTN 110 (VOWN
(nmwn X7 R) (-R+Xy, %X +R)

1A% 9y nypa



DINYN NIANN NI'X;2I9

‘21220 DMAN
lim f(x,y)=A
(X,¥)—=>(X0,Yo)

n"¥o XN d WUNd) O<d((x, y),(xo,yo))<5 9w P o>0 ovp >0 D7 DX

Jf(xy)-A<e nupnn (Fnon

. lim f(x,¥)=f(Xg,Yo) DX (Xg,Yp) -2 noXx1 f(X,y) :vown
(x,¥)>(Xo:Yo)

NN NINZAD YW nipn

d(x,y)
1d(x,y)20, "=0"x=y

2d(x, y)=d(y,x)
3d(x,y)<d(x,z)+d(y,2)

byl

d((% Y), (0, Yo)) =y (x=X0)2 + (Y — Yo)°
N9 NID'NYY NIYAIO 7w NAdNI 79D ,717'N :VdWN

D'INYN 2 Y NY7I9 7Y Nara
$X =N 'Y 9% NNt nAt

df , - (% yo)— f (X0, Yo)
dx % (0. Yo) X—>Xg X—=Xg

NI'77AN'¥IO'T

SN AN RO
DIYM? D190 IR D'2PN DN 2 7 Y19 1Y

F ()= f(Xg) = A(x—X) + (X~ X)
N9 aH—X>0 -1 A= f(Xp) qwuno
0

JINNINOT XD TN nN'X;2219 10 axny [N OX



